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KVS PRT General English Memory
Based Questions

Directions (1-2) Read each sentence to find out
whether there is any grammatical error in it.
The error, if any, will be in one part of the
sentence. The number of that partis the answer.
If there is no error, the answeris ‘4’ i.e. No error.
(Ignore the errors of punctuation, if any).

Q1. Varun is absolute confident (1)/that we are
going to move forward (2)/strongly. (3)/No error
(4)

(@)1

(b) 2

(93

(d) 4

Ans.(a)

Q2. My sister has done (1)/and is still doing
(2)/excellent work for her business. (3)/No error
(4)

(@)1

(b) 2

(c)3

(d) 4

Ans.(d)

Q3. Select the one which best expresses the same
sentence in Passive/Active voice.

Rahul begins his day with a cup of tea.

(a) Rahul’s day is begun with a cup of tea.

(b) His day is begun with a cup of tea.

(c) His day is being begun with a cup of tea.

(d) His day began with a cup of tea.

Ans.(b)

Q4. Select the one which best expresses the same

sentence in Indirect/Direct speech.

My father said to me, "Don't talk to your teacher like

that."

(a) My father warns me not to talk to my teacher
like that.

(b) My father warned me not to talk to my teacher
like that.

(c) My father warned me not to have talked to my
teacher like that.

(d) My father warns me not to have talked to my
teacher like that.

Ans.(b)

Q5. Find the antonym of the word ‘Vigilant’
(a) Alert

(b) Awake

(c) Careless

(d) Tentie

Ans.(c)

Q7. Choose the type of clause in the sentence:
Pay careful attention to what [ am going to say.
(a) Noun clause

(b) Adverb clause

(c) Adjective clause

(d) Prepositional clause

Ans.(a)

Q8. Choose the type of clause in the sentence:
People who live in glass houses should not throw
stones.

(a) Adverb clause

(b) Adjective clause

(c) Noun clause

(d) Prepositional clause

Ans.(b)
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Qo. , I was able to attend the wedding.
(a) Instantly

(b) Luckily

(c) Suddenly

(d) Beautifully

Ans.(b)

Q10. of the four candidates are fit for the
post.

(a) Neither

(b) No

(c) None

(d) Either

Ans.(c)

Directions (11-15): Read the passage and
answer the following questions.

India's agriculture is composed of many crops, with
the foremost food staples being rice and wheat.
Indian farmers also grow pulses, potatoes,
sugarcane, oilseeds, and such non-food items as
cotton, tea, coffee, rubber, and jute (a glossy fiber
used to make burlap and twine). India is a fisheries
giant as well. A total catch of about 3 million metric
tons annually ranks India among the world's top 10
fishing nations. Despite the overwhelming size of
the agricultural sector, however, yields per hectare
of crops in India are generally low compared to
international  standards. Improper  water
management is another problem affecting India's
agriculture. At a time of increasing water shortages
and environmental crises, for example, the rice crop
in India is allocated disproportionately high
amounts of water. One result of the inefficient use
of water is that water tables in regions of rice
cultivation, such as Punjab, are on the rise, while
soil fertility is on the decline. Aggravating the
agricultural situation is an ongoing Asian drought
and inclement weather. Although during 2000-01 a
monsoon with average rainfall had been expected,
prospects of agricultural production during that
period were not considered bright. This has
partially been due to relatively unfavorable
distribution of rainfall, leading to floods in certain
parts of the country and droughts in some others.

Despite the fact that agriculture accounts for as
much as a quarter of the Indian economy and
employs an estimated 60 percent of the labor force,
it is considered highly inefficient, wasteful, and
incapable of solving the hunger and malnutrition
problems. Despite progress in this area, these
problems have continued to frustrate India for
decades. It is estimated that as much as one-fifth of
the total agricultural output is lost due to
inefficiencies in harvesting, transport, and storage
of government-subsidized crops.

Q11. In the above paragraph the word ‘however’
indicates

(a) regardless

(b) essentially

(c) supporting

(d) consequence

Ans.(a)

Q12. Which of the following is the most appropriate
title of the passage?

(a) Agriculture in India

(b) Survey about Indian Agriculture

(c) Future of Indian agriculture

(d) Horticulture in India

Ans.(a)

Q13. India
nations.

(a) is

(b) has among
(c) is among

(d) is in between
Ans.(c)

the world’s top 10 fishing

Q14. What is/are the impediment(s) faced by
Indian Agriculture?

(a) environmental crisis

(b) Improper water management

(c) Both (a) and (b)

(d) None of these

Ans.(c)

Q15. What is the meaning of the word “inefficient”?
(a) orderly

(b) ineffective

(c) productive

(d) coherent

Ans.(b)
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KVS PRT General Hindi Memory
Based Questions

Q1. T F FIT Y &t AT H TN Aol 0l ST 2-
(@=®

(b) o

()

CIN)

Ans.(b)

Q2. M¥ & | &I AT T4+ g-
(@

(b) T

()=

(d) et

Ans.(a)

Q3. HETHI & AT I T & Tha= AZ I &-
(@)3
(b) 4

()6
(d) 2
Ans.(b)

o

Q4. 31T F SATITT U< ATHT T T el ST -
(a) et

(b) &t

(c) ore<

(d) aT=F T

Ans.(c)

Q5. e & & fdt o wefeer eaforrt i o) 2 —
EIEERNIE]

(b)czsd

(c)I9®DbH

(dagzdg

Ans.(b)

Q6. TIHTET T T TATH THIY % AT e q07
& 9T% gT-

(@=

(b) =

(=

(A=

Ans.(b)

Q7. & FviwTaT ® 98T Fv7 oA -
(a) 25

(b) 33

(c) 35

(d) 44

Ans.(d)

Q8. Tk =T | AT oz g 2-
(a) dcqH

(b) 7=

(c) FersT

(d) T7% & S TS

Ans.(a)

Q9. = FUT o IFTLOT T TATH i AT &-
(a) dTerq

(b) &=

(c) Feea

(d) e

Ans.(a)

Q10. forfera AT o R i 7 grd & —
(a) 2

(b) 3

(c) 4

(d) 5

Ans.(c)

Q11. REFH (AT ATAT) - AT FT TGT FA1 TGIST ?

(a) Teft &

(b) ST F ATX

() THTT o TLLTT FLA o (70
(d) ST |  FE Agl
Ans.(b)

Q12. &t FT TATIATHT A AT Aal -
BEIREL

(b) wig=

OELS]

(d) ¥

Ans.(d)

Q13. 79 | &I o | 8-
(a) T e

BERIEEIES

(c) <= =

(d) farent gfer

Ans.(b)
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Q14. ‘3@ f*@MT HgE< &7 o1 =99 § | #7471 gT-
(a) STt

(b) gH=RTAT

(c) ST | I@T

(d) ST AT
Ans.(a)

Q15. ‘FATHT T T FETAT | TATHIATAA Foherehl g
AT & 57 TEwE e ST A1-

(a) T=TH

(b) HTEw

(c) FeraT

(d) =

Ans.(a)

KVS PRT General Awareness &
Current Affairs Memory Based

uestions

Q1. Who among the following not received Arjun
Award in 2022:

(a) Ms Shushila Devi

(b) Shri Lakshya Sen

(c) Shri Vikas Thakur

(d) Surya Kumar Yadav

Ans.(d)

Q2. Which male actor gets best actor award in Goa
Film Festival 20227

(a) Jr. NTR

(b) Amitabh Bachchan

(c) Vahid Mobasheri

(d) Seu Jorge

Ans.(c)

Q3. Who among the following has been awarded as
Satyajit Ray Lifetime Achievement Award 20227
(a) Khalil Dhantejvi

(b) Amitabh Bachchan

(c) Padmaja Reddy

(d) Carlos Saura

Q5. Which country was the Winner of FIFA World
Cup 2023?

(a) Germany

(b) France

(c) Qatar

(d) Argentina

Ans.(d)

KVS PRT Reasoning Ability Memory
Based Questions

Q1. Select the missing number from the following
series.

4,5,8,9,12,13,?

(a) 14

(b) 16

(c) 15

(d) 20

Ans.(b)

Q2. In the given figure, how many wooden doors

are not brown.
Wood

AV

Door

<«<—— Brown

(a) 7
(b) 1
(c) 2
(d) 4
Ans.(c)

Q3. Atul and Bansi start running from the same
point. Atul goes 5 km west then he turns right and
goes 4 kms. While Bansi goes 2 km East turns right
and moves 7 kms. From here, he moves 7 km to the

Ans.(d) west. What is the distance between Atul and Bansi.
(a) 7 km

Q4. Headquarters of IMF: (b) 3 km

(a) Washington DC (c) 10 km

(b) Geneva 1) 11 k

(c) Rio-de-Janeiro (d) m

(d) None of the above Ans.(d)

Ans.(a)
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Q4. If 18 December 2022 was a Sunday, what day
would it be on 15% March 20237

(a) Monday

(b) Tuesday

(c) Wednesday

(d) Thursday

Ans.(c)

Q5.L,M,N, O, P, Q, Rand S are eight friends sitting
on a circular table, facing the center. N is to the
immediate right of L, who is 4t to the right of O. P
is 2nd to the left of L and is 4t to the right of R. Q is
2nd to the right of M, who is 2nd to the right of S. Who
is opposite to M?

(@A) N

(b) S

(c)M

(d)O

Ans.(a)

KVS PRT Computer Literacvy Memory

Based Questions

Q1. Which of the following is an output device?
(a) Printer

(b) Scanner

(c) Key-board

(d) None of these

Ans.(a)

Q2. LAN stands for:

(a) Local Area Network

(b) Location Available Networking
(c) Large Area Network

(d) Local Advanced Network
Ans.(a)

Q3. Data stored in Which storage can be accessed
from anywhere and anytime?

(a) Hard drive

(b) Pan Drive

(c) Network Storage

(d) Cloud storage

Ans.(d)

Q4. Which of the following is not a web browser?
(a) Chrome

(b) Mozilla firefox

(c) Opera

(d) MS DOS

Ans.(d)

Q5. Which of the following is an operating system?
(a) Chrome

(b) Android

(c) MS Paint

(d) None of the above

Ans.(b)

KVS PRT Perspectives on Education
and Leadership Memory Based

uestions

Q1. Which of the following is not a component of
lesson planning given by Herbert?

(a) Preparation

(b) Presentation

(c) Association

(d) Evaluation

Ans.(d)

Q2. PARAKH stands for-

(a) Performing Assessment, Reviewing,
Analysis of Knowledge for Holistic domain

(b) Performance Assessment, Review, and Analysis
of Knowledge for Holistic Development

(c) Performance Assessment, Relevancy, and
Analysis of Knowledge for Holistic Development

(d) Performance Assessment, Review, and Analysis
of Knowledge for Heteronomous Development

Ans.(b)

and

Q3. According to RTE, which age group of disabled
children has a right to free education?

(a) 6-14

(b) 6-18

(c) 6-15

(d) 6-16

Ans.(b)
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Q4. Which of the following is correct in the context

of the socialization of children?

(a) Peers are primary socialization agents and
family is a secondary socialization agent.

(b) Family and mass media both are secondary
socialization agents.

(c) School is a secondary socialization agent and
family is a primary socialization agent.

(d) School is a primary socialization agent and
peers are secondary socialization agents.

Ans.(c)

Q5. According to RTE Act 2009, the pupil-teacher
ratio of primary school should be

(a) 25:1

(b) 35:1

(c) 40:1

(d) 30:1

Ans.(d)

Q6. How many working days are compulsory for
primary teachers in the school under RTE Actin one
Academic Year?

(a) 180 days

(b) 220 days

(c) 200 days

(d) 230 days

Ans.(c)

Q7. The Right to Education Act 2009 is an act which
aims to provide free and compulsory education to
all children

(a) 6-14 year

(b) 8-15 year

(c) 5-13 year

(d) 4-12 year

Ans.(a)

Q8. What is the full-form of TLM for teachers?
(a) Teacher Language Mechanism

(b) Teaching Learning Materials

(c) Teaching Learning Mechanism

(d) Training and Learning Method

Q9. Who said, “Adolescence is a period of storm and
stress”?

(a) BF.Skinner

(b) Jean Piaget

(c) Erikson

(d) Granville Stanley Hall

Ans.(d)

Q10. How can a teacher make teaching meaningful?
(a) rote memorization

(b) identifying the errors

(c) giving home task

(d) conducting class test

Ans.(b)

Q11. What should be the underlying principle for

assessment according to National Education Policy

20207

(a) Primarily testing rote memorisation skills

(b) Encouraging learning of content only

(c) Optimizing learning and development for all
students

(d) Assessing students only into the cognitive
domains through end of the year examination

Ans.(c)

Q12. Successful inclusion needs
(a) lack of capacity building

(b) no involvement of parents
(c) segregation

(d) sensitization

Ans.(d)

Q13. Which of the following methods will be best
for teaching students of class three?

(a) laboratory method

(b) group discussion

(c) lecture method

(d) creational activities

Ans.(d)

Q14. In a class, a student do not talk to anyone, not
do his homework and sit quietly in the class, he
needs

(a) teacher

(b) friends

(c) counsellor

Ans.(b) (d) management
Ans.(c)
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Q15. The new NEP, has replaced the current 10+2
system with which of the following structures?

(a) 3+4+5+5

(b) 5+4+3+3

(c) 5+3+3+4

(d) 3+4+4+5

Ans.(c)

Q16. Regarding co-education at the secondary

stage, the 1952-53 Education Commission has

suggested that

(a) to start, resource, in several states could not
afford

(b) there should be objection to extend co-
education school

(c) to maintain separate schools for boys and girls

(d) the situation in our country warrants
establishment of more boys schools than co-
educational school

Ans.(a)

Q17. Which of the following best describes the
effect of heredity upon development?

(a) heredity determines how far we will go

(b) it determines how far we can develop

(c) it is the prime determinant of development

(d) none of the above
Ans.(b)

Q18. Lecture method of teaching is recommended
to which groups of students?
(a) secondary grade

(b) middle school
(c) college
(d) higher secondary
Ans.(c)
KVS PRT EVS Memory Based
Questions
Q1. Tarun Bharat Sangh is related to?
(a) water
(b) soil

(c) weather
(d) air pollution
Ans.(a)

Q2. Photosynthesis takes place in
(a) roots

(b) flowers

(c) chloroplast

(d) seeds

Ans.(c)

Q3. Digestion of Protein and Fats takes place in
(a) large intestine, small intestine

(b) stomach, small intestine

(c) liver, large intestine

(d) stomach, large intestine

Ans.(a)

Q4. Consider the following list:

Potatoes, Peas, Carrot, Turmeric, Ginger

In the list which one of the following is different
from the others?

(a) carrot

(b) peas

(c) turmeric

(d) ginger

Ans.(b)

Q5. Agriculture activity involves -
I) growing crops

I1) raising animals

[1I) growing flowers

[V) mining

(a) IL, 111

(b) L IL I

(o) LIL IV

(d) All of the above

Ans.(a)

Q6. Which among the following types of soil is also
known a ‘Regur Soil’?

(a) laterite soil

(b) arid soil

(c) red and yellow soil

(d) black soil

Ans.(d)
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Q7. Select from the following the correct sequence
of growing the onion crops:

A. Sowing the seeds

B. Weeding

C. Cutting the dried leaves from the top of the onion
D. Digging to loosen the soil

E. Plucking the onion out

(a)D,AE,B,C

(b)D,E, A, B, C

(c)D,B,AE,C

(d)D,A BE,C

Ans.(d)

Q8. The root that goes deep into the soil in search
of water and minerals is -

(a) fibrous root

(b) elongated root

(c) lateral root

(d) tap root

Ans.(d)

Q9. Which among the following is a way of cooking
food by exposing it to dry radiant heat over open
fire?

(a) baking

(b) frying

(c) roasting

(d) boiling

Ans.(c)

Q10. The birds move their neck very often because
(a) they can fly

(b) the birds eyes are fixed

(c) the birds have small eyes

(d) their ears are covered with feathers

Ans.(b)

Q11. What should be done to make the elder feel
valuable and respected in a family?

(a) arrange for family times

(b) find them a job

Q12. A child keeps a pet and plays with it daily. How
do it helps in his/her development?

(a) strengthening

(b) social upbringing

(c) challenging

(d) social facilitation

Ans.(d)

Q13. The process in which nitrates are converted
into simple nitrogen by the action of anaerobic
bacteria is called

(a) ammonification

(b) assimilation

(c) denitrification

(d) nitrification

Ans.(c)

Q14. Micro-organism act upon the dead plant to
produce -

(a) mushroom

(b) sand

(c) humus

(d) wood

Ans.(c)

Q15. Green manuring refers to

(a) adding vermicides to the crop

(b) growing green crops of leguminous plants
(c) adding decomposed organic matter in soil
(d) adding freshly prepared pesticide to the crop
Ans.(c)

KVS PRT Maths Memory Based
Questions

Q1. Fill up the following pattern-
1,3,9,27,81.......... -

(a) 243

(b) 123

(c)121

(d) 456

Ans.(a)

Q2. The cost price of 20 articles is the same as the
selling price of x articles, if the profit is 25%, then
the value of x is-

(c) ask them to manage finances E?))) ;g
(d) none of the above (c) 56
Ans.(a) (d) 12
Ans.(a)
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Q3. The correct Roman numeral that represents
40-

(a) XXL

(b) XL

(c)D

(d) LA

Ans.(b)

Q4. 1 million is equivalent to which of the
following-

(a) 100 thousand

(b) 10 thousand

(c) 1 crore

(d) 1000 thousands

Ans.(d)

Q5. Convert 5/12 into percentage?
(2) 43%

(b)41.67%

(c) 42%

(d) 40%

Ans.(b)

Q6. The length of a rectangular yard is 10m more
than the width, if the yard’s length is 25m, find the
perimeter of this rectangular yard-

(a) 70m

(b) 68m

(c) 80m

(d) 100m

Ans.(c)

Q7. What is the value of
(10/5*3/6)+(2/3*6/2)-8/40f14/7?
(a) 2

(b) 3

(c) 4

(d)5

Ans.(a)

Q8. The sum of four consecutive even integers is
1284, the greatest of them is-

(a) 445

(b) 345

(c) 324

(d) 234

Ans.(c)

Q9. The product of two numbers is 432 and their
LCM is 72, find their HCF-

(@) 6

(b) 7

(c)8

(d)9

Ans.(a)

Q10. If 3 march 2020 was Tuesday, then what was
the day of the week on 3 February 2019-

(a) Sunday

(b) Monday

(c) Tuesday

(d) Wednesday

Ans.(a)

Q11. A, P, R X, S and Z are sitting in a row, S and Z
are in the centre, A and P are at the ends, R is sitting
to the left of A, Who is to the right of P-

(@)X

(b) A

(S

(d)Z

Ans.(a)

Q12. In a class of 100 students, 50 of the students
passed in Hindi and 35 in Sanskrit, if 75 of them
pass in at least one subject, what percentage of the
students passed in both subjects-

(a) 10

(b) 20

(c) 34

(d) 56

Ans.(a)
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